gotogobz0iobdoon

1(l)00o0000oooooooooCocooOOoUoU0oooooooooooo
gogbbbuogobobbooogboobuoooobbooooooboobogn

1 2 1 2 1 2 1 2

gbobooooboobooboobobuobom,MOO0DbOoboDbOobOoDOn
ooov,oooo
gogboboboooobbob

mv; + MVy = mi; +MVy - @

00000000QUO0O00X»00@UO0O00 ;0000000000000
ggboobobooogn

. L Mo
(Uz’—VJ)2=(Uf—VJ)2+E(VJ—Vf)2

O00Om<« MOOOV,=V,000000000000000000

—

(0 — Vy)? = (07 — V)

gogbooboogn

—

v; =V

gogooodg

(2)(1)000

vy — V}‘ = \/vf—i-VJQ —2v; - Vycos = V217 ~ 15

odbobOe,d0o00oao

max(vy) = |UF — V:]‘ + V= 28[km/s]

(0000)00D0000000000000000000D00ooOoooOoOOo
goooboooogon



2(1)n+10000000000000 v, —u0000M, = My+ M;—nAm
ggboboooobboboogood

> i =Y = FA

(—Am(u — vpq1) + Myy1vns1) — Myv, = —p' M, gAt

M,Av = ulAm — ' M, gAt
Am

Ay —
v MQ+M1—7’LAm

u— p'gAt

goon

A
2)(Hoooood AtDDDDDk:TTDDDDDDDDDDDD

Av k ,
_ = u —
At Mo+ M, —kt© I
dv(t) k ,
= u— 'y
dt My + M, — kt
oooo
(3)2)0000¢=000¢=t0000000
My + M,
t) = —u'qgt 1
v(t) ug%ﬂt%ﬂ%+ﬂﬁ_kt

gaon

()0 ¢t=000¢=T0000000

My + M,
My + M, — kT

T

1

/ v(t)dt = uT — é,u'gT2 - %(MO + My — kT)log
0

Kr=MODO0O00OO

T 1 U M
Ddt = uT — =1/ gT? — —Mylog | 14+ ===
‘A v(t) ul' = 519 . oog<+M0

0000
(0000)1)000000000000000000000 )0 kT =M0O

0000000000 00ooooo()ooooooooooooo ZDDD
gogbboboooobbboooooobbooooboobbbooon



\/;

20, 5 2 2\—1 2,2 2 2\—5 c?
20— (2" 4y +2°) i == +y + )i = ——u

ox rz

gdbbb0y, 00000000000

v r
010000000000 V) =-220000
(7‘)——%
2 g_lz
(mwmmzT%%T—Dummmﬁmmuummmmmmmm
151
100
50
0
| =
=50 /""
=100
=150

d.E —4.05042 1008815096 20048 . 2508 . 30038 35044 41

O00-0000000000 Viyy(r)=sEDDDOO

E>0000r 2V (E)

E < 00000Ves(r) = Vegg(ra) = E,rp < r 000 m,r, 000000
rnSrsry

ggon



(3)(2)000V/,,;(r)=000000 r =7, 0000

2
1?2 \?
T'min = me2

0000000E=V,, 0000 (200000000000 r=r,,0000
00000000000000

Wr=rn, 00000000000

(0000)00000000000000000000000000000OO0
0000000000000 000000000o00o0()oooo FOO V(r)
ggoobbbbbouooooobbbbbbuooooooobbobooagoo
00000 V()DODOOOO0O0O0000O000o0o0o00@)Dooog m,e,l
ggobbbbbbuooooobbbbbouooooobbobbboago
gogbooboogogoooodao



